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Two separate decks of cards are shuffled.
What is the chance that the top card of the
first deck is the king of spades or the bot-
tom card of the second deck is the king of
spades
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Shapes.
A shape is a 6-sided die with faces cut as shown in the following diagram:
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ex
-

Suppose you draw a number from a bag, with equal probabilities across the
choices {1, 2, 3}.

Once you draw a number, you toss a coin until you get that many number
of heads followed by a tails—so if you draw a 3, you keep tossing until you
encounter the sequence {Heads, Heads, Heads, Tails}.

. What is the probability of tossing a coin seven times given that you draw

the number 27 - c o '1 CO\MD;"HD\'Q/ (‘Dmﬂ,}\
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